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Answer Sheet: Phrasal Verbs - Tie

Choose the correct answer.

Q1 - Theroad wastied with traffic.

I:I down
I:I off

v up

Q2 - It'sconvenient astheir visit ties with the opening of the exhibition.
D down
v in

|:| up

Q3 - All our suggestionstied neatly.

D back
v in

|:| up

Q4 - Shetied her hair before starting work.

v" back
D down
D off
Q5 - Theinsurgentstied thousands of soldiersin the town.
I:I back

v/ down

L1 in

Q6 - Wetied it to stop the wind blowing it away.

v down

I:Iin
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Q7 - | wastied at work and couldn't leave until very late.

D back
I:I in

Q8 - Marriage can tieyou .

D back

v down

I:Iin

Q9 - | tied my shoelaces .

I:I down
D back
D in
v

up

Q10 - They tied the prisoners so that they couldn't escape.

I:I back
I:I in
v up
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